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TutOI’ia]: Walt a.nd S|na| Tutorial: Wa.lt and S|na]

m use the following implementation pfi ntf in

copy thesi npl . from the last lecture and
[ py thesi npl esync. py u Python

run it

| def printf (format, *args):

m  copy thesi npl emut ex. py from the last lecture print str(format) %args,

and run it

m now add another mutesemaphore to protect the

m  why does the output become scrambled? print statement insidpr i nt f

= inthesi npl emut ex. py program change afir i nt m does the output from the progam become easier to
statements intpr i nt f statements using appropriate read?
parameters
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Tutorial: Wait and Signal

m finally if you have ime consider he you might solve
the readers and writers problem using sempahores

m the readers and writers problem is defined as follows
only one writer can enter a section of code at a
time
if no writer is in the section of code then any
number of readers can enter at a time
a writer cannot enter until all readersveaited
the section of code



